Ol & A S & Al A

2A: EXNZED
o200 Melag
B o: 200 FYTA 2L
& 1 213 2x2agl (crel: &g
SRR 0 o & o rSJEL=L IR HimEET
ES Al 1,747,371 1,702,825 44,546
EXEE 0 1,747,371 1,702,825 44,546
200 M2l==¢ 1,436,800 1,417,300 19,500
210 ZAEH 2% 40,000 20,000 20,000
213 =2 40,000 20,000 20,000
213-05 J|Et==2 40,000 20,000 20,000
O EE=EIEHERS] 40,000
220 BAIEANI L= 1,000,500 1,001,000 A500
224 J|Et=—=¢ 1,000,500 1,001,000 A500
22404 NI BTHEAEE S 1,000,000 1,000,000 0
OXEHEZAL ZEZ 1,000,000
22407 2=+ 500 1,000 A500
ONRYS FILL 822 FA(2IH) 500
230 XYM - = 396,300 396,300 0
231 A= 50,000 50,000 0
2101 22 50,000 50,000 0
OSsaaE 9iu BE3 50,000
24 VENR 46,300 46,300 0
23402 JIEtHEHZ 46,300 46,300 0
OFSA&eald e MEHZ 40,000
O3 QISHAIE 2Bt e =S 3,000
OSSASIIHENDENR 2,000
OBAFR 75 U 22| SO 2E HB BER 300
OMErolol a0l 28t HE 21U DENR 1,000
236 FE= 300,000 300,000 0
23601 &= 300,000 300,000 0
O EETE 300,000
500 2x3 310,571 285,525 25,046
510 2 UEX3ZS 205,216 267,947 22,731
511 2NEx3S 265,216 267,947 A2,731
51101 =1EX= 265,216 267,947 A2,731
OIHESAIRIIE ZAHAHE 81,000
ONEYEAAY £ 184,216
520 Al - SHIEAZS 45,355 17,578 27,777
521 Al - SHIEEZ2S 45,355 17,578 27,777
521-01 Al - EHIEXES 45,355 17,578 27,777




oF
K

o

0J

ulo ulo

rnono

K4 K4

H K

-

=00 WM WK

K - -

R ==

= o —

HB & &
:.An_h

Dk K0 7 70

-

no
Klo
=
o
3
J
=}
WH
T
ol
S 8 8
o OO ™M
s |e 8 ©
2
=
30
p
|
E o a1
O TR
T g _
K =
A WM& 0
o |4 s oA
A (S I )
X |y = w
W = ®
B o —
= RO =
Mo =
0~ Hr
AR =
H R =
O O O




H & 0l & AHS B Ml A

2A: EXEED

M EXNFEELR Ml ga

ol EXNEE dast EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EXEE 2,050,865 2,422,072 A371,207
= 265,216
== 45,355
Al 1,740,294
EXNFEELR MHIA a4t 1,976,339 2,325,112 A348,773
= 265,216
< 45,355
Al 1,665,768
EXNHE du3t 140,669 52,497 88,172
= 28,960
Al 111,709
NH(=5E) A& 23,769 7,958 15,811
201 Ler=23 | 18,069 1,658 16,411
01 At2teltl 1,238 1,238 0
O0lsAlgel & sS8205E gield 2
50,0008 x192+12,0002 x24 2 1,238
02 s3=gHl 16,831 420 16,411
OXNHSHHAS PSEHEEHI(RS) F2018
= 35,0002~ 12& 420
OXNZIIEH (NFE2E) HEX LHEA 2
g2eld| 233, 1003 x64 8 *110% 16,411
202 0o4dl 3,600 4,000 A400
01 2L AL 3,600 4,000 A400
OXHSE ALET0H|
540,000 x5 +900,000& *1H 3,600
203 =48] 1,800 2,000 A200
03 A=A =] 1,800 2,000 A200
OEXHE AP R=EH| 1,800
301 EtE NS 300 300
11 dAMEEIXIE S 300 300
Os24d29 25 & 22|S0l 28t 88 2
O BRHE H2EA A4
100,000 1 +33] 300
INESIFSENS-l; 44,500 44,539 A39
201 fet= 3| 6,325 6,018 307
01 AtR2t2lHl 6,325 6.018 307
O=gll gitz 380,000+ 12 4,560
OXHE L A2ZFY 300
OUAEZE SASA 2 1,465
202 04l 1,620 2,400 AT780
01 =LHAHI 1,620 2,400 AT780
OXNHEE gL=a044|
540,000 +3 1,620
207 ARl 36,555 36,121 434




A EXNEE
Hu: EXNEFPLE MHIA B
ol EXNEE dast EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MAHHZHI 36,555 36,121 434
OXIXHZ2A DB #= 21,825
ORSUSESEAIAE RX2=> 12,644
OFSUESESFEALE I ES S W=
A== 2,086
NEIIEE MAH g &= 72,400 0 72,400
& 28,960
Al 43,440
201 er23 | 72,400 0 72,400
= 28,960
Al 43,440
01 AFR2t2ltl 72,400 0 72,400
OXNZINIZE HASKA it &E AL 72,400
S 28,960
Al 43,440
HESAXIIL 2 217,970 211,132 6,838
= 81,000
Al 136,970
HeREs Rt - A= 55,700 51,700 4,000
201 el 24,700 20,700 4,000
01 At2teltl 24,700 20,700 4,000
OMLRES 2FTIIL4E
2,000,000& 27| 2t+424 16,000
OMLRLYS BR2AEXI BS 448
87,0003 »100 8,700
207 ARl 30,000 30,000
01 H7ESH] 30,000 30,000
OJZHIE AE sl Boy)
2,000,000 152 30,000
802 grat= DI E 1,000 1,000
03 JIEtEtE =SS 1,000 1,000
ONgREs DIILS  &=3 1,000
IHEZAIXIOE ZAL- &HE 162,270 189,432 2,838
= 81,000
Al 81,270
201 fer=3| 157,170 152,832 4,338
= 78,600
Al 78,570
01 AtR2t2lt] 157,170 162,832 4,338
ONESAIXIL 22 o M
55,0003 *40H 2-+22] 4,400
ORStIASAI?IE B&+E 1,680
OFRSaIIASAIAE 2 MBS AL 2,400
OHESAIXDL BEF==2 137,234




od
i’
oF
uJ

S ] RN < 8|3 218 ]
0 o} OIN|®|® Sk oS i)
KIo <
E
E=)
S S S99 3 818 218 e
] ] s|S|a|R 8 |9| B |8
H3r
Lilkd
RIS
© ©O NN (e 0]
sgeegguressasleselecselBElElE & ¢ &8 & saalsls S8 88
S © B ddleddlsdddglglgly - Y8 d & 6« F|s|s oo "
ol
<
S
= rir rir rr rr rir o= rir
R T N | ol ) ol
8 o ¢ g8 g % 3 Q
b5 205 ¢ 8 2 @
or 3l - -
£ T v ow S«F F ¢ , g
Al W B SyE=S 2 g % ]
. ) i 3
- o I §i8w S e
= m I = § T o8 = RO
< K < g — o W m 35 IH
= 0 a g = - w5 = £} i
. I 5 o "B 2 om 5 ° A =) &
~ AR oom = 3 K3 o & mooor R) o
= - o R = 4 " w f KF 3
ol I = = K1 K] 3D KF w T X W o oF
= A I ~ . ~ O =z O om N = sl rlo
b w o w » 2 B M W = = ColelE?
-+ nt = = N S|4 [38) 8] R - n Ik < 0
5 - 5 Zg| |z o5 & o mm| |s@ |wmE_ %
= &l 3l < Ho Ho = ur Kila | — (o0 |/ RO K0 <J < H0 ob O =z < H|zn WD 1
K ~ ~ o il il - =5 K Slo [P |20 |oF oE [ o o al Ao B[ | W 3|= oI o
RY R =Xk =5 7 |5 frw R|E®@lza @ Ik ok F oMmo|z|T Ik |a|® e S
. @) @) O O O N — O Ol |z~ O O O O O « Olal|= O —|-— O «
X & e 2| < Q| S|~ 1
I+ o | Dk
i3




2A:

EXNFEE

Hu: SN0 MHIA S
s 2S48 3 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORSAalng gt MR NS 5,000
O3SHAIY g dNEa=s 500
CERHFAL MY 331,543 265,446 66,097
s 10,000
Al 321,543
E2E =4 29 - 2 321,543 255,446 66,097
201 =3 129,490 127,820 1,670
01 At22t2l] 18,910 18,320 590
OE2EF4 EEE M iz
1,800&%10,000& 18,000
OFA3ERA- BH+H
70,0002 9 *13] 630
OXZAHs FHo=E
70,0002 x4 *13] 280
02 35284l 110,580 109,500 1,080
OEZ2gE d=IA 2 RAES 37,000
O20248 M=HMAEHH =2 HE FH| 30,000
Odstaet 8=XA & R+ 38,000
FERS 1,500 +3,00024 4,500
OADLEKAIS EE0I1E22 90,0002~ 12& 1,080
202 04l 2,700 3,600 A900
01 2LHoIH 2,700 3,600 2900
O=2 T4 RO
540,000 «6H 2,700
308 AHAIEMSOIE 101,353 44,026 57,327
11 S 2SO0 SHASAIE 101,353 44,026 57,327
OXHICH =AFE2CAAE 25 2 |X
2 40,160
OgH=a =% & FAFEI 2 |2
2l 61,193
401 Al HIZ 2018 88,000 80,000 8,000
01 Al&H| 88,000 80,000 8,000
OXgs =23 4X
400,000 507K 20,000
O=giE =23 &X
300,000 100K 30,000
O=2ZHAN [HE AL HH R &X
300,000 #7571+15, 0002 *500H 30,000
OAtEFaA8 M& & 4X
80,0002 *50K 4,000
OXsgdstise Ma & £X
80,0002 x50 K 4,000
T 2l Z9=2 4| 10,000 10,000 0
= 10,000
401 Al HIZ S OHbI 10,000 10,000 0




2A:

EXNEE L

3 EXE2YA MH|IA gt
Rl E2EFA A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,000
01 AlZ2H| 10,000 10,000 0
O 2| 2952 T2HOHHAIE &X 10,000
s 10,000
BPNISUNESEES 1,255,393 1,744,735 N\489,342
= 184,216
& 6,3%
Al 1,064,782
K= THZEALAL 1,049,860 1,556,120 506,260
201 er23| 47,700 53,120 25,420
01 At2teltl 47,700 53,120 A5,420
Oxgdsdts 2848t =8
45,0002 +400% X +20H 3,000
OXEWEAIZI S| A 4g
70,0002 x6H *23] 840
OZHZHARE BA+Y
70,0002 13 #2323 1,820
OXNHMZAL E2=8 MH
8,0002 *B00JK 6,400
OXHMEAL 2 S+ MH
55,0002 *8IH*62] 2,640
202 04| 2,160 3,000 AB40
01 SLHoIH 2,160 3,000 AB40
OX A AL HRFH0H|
540,000 x4 2,160
301 LEtE N = 1,000,000 1,500,000 /500,000
14 DBt 2 a3 1,000,000 1,500,000 A500,000
OXETHEANG 28 = 1,000,000
KETHEZAALY =& 184,216 188,615 A4,399
= 184,216
201 er=23| 184,216 188,615 A4,39
= 184,216
01 AtR2t2lt] 184,216 188,615 A4,39
OXIEUEAN 244
238,700 7002 K| 167,090
= 167,090
OJIE8 =+1= 8,354
= 8,354
O=2gHtl 8,772
= 8,772
XX HAHASKA Hat At 21,317 0 21,317
=S 6,395
Al 14,922
201 fet=3| 21,317 0 21,317




A EXNEE
3 EXE2YA MH|IA gt
= BB PNE=INESES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 6,3%
Al 14,922
01 At2tltl 21,317 0 21,317
ONASXIA et o | A 21,317
= 6,395
Al 14,922
HYRIHH(EXNFEED) 74,526 96,960 N22,434
J1I=28Hl 74,526 96,960 N22,434
Jl=23H] 74,526 96,960 N22,434
201 er23 | 29,910 33,600 23,690
01 At2telt] 29,910 33,600 A3,690
OJIEINRES 7,380
OJIEt+=EHI 6,030
O0ft & S22 SAH|
550,000 *30H 16,500
202 04| 38,880 57,120 18,240
01 =LHO LI 38,880 57,120 18,240
Ot S JI2HRFA0t]
108,000 *30E « 122 38,880
203 HF=H| 4,536 5,040 A504
MU A2 LRFAI 4,536 5,040 A504
ORANEgg =AY
420,000 «00%* 123 4,536
204 MR A 1,200 1,200
01 MG HP=HAHH| 1,200 1,200
OBE MMZ Y2zzy|
100,000& «12& 1,200




	34_01토지정보과.pdf
	34_02토지정보과.pdf



